2025 HTFF—LAFATILR
FEY—Y
A y—4 X4 — LGl (27 R)
NO. F—L% 1 2 3 4 BB (=t
1 lucky*clover 1—-2 0—2 2—0 1—2 3
2 lien 2—1 1—2 2—-0 2—1 2
3 DB 2—-0 2—1 2—-0 3—0 1
4 S=AHUX 0—2 0—2 0—2 0—3 4
HEIERE 1-2 = 34 = 1-3 = 2-4=> 1-4= 2-3
B —4 X457 —LER (ST F)
NO. F—L% 5 6 7 8 fE: B =t
5 Smile Again 0—2 2—0 1—2 1—2 3
6 254U ndE 2—0 2—0 0—2 2—1 2
7 SYHRANI— 0—2 0—2 0—2 0—3 4
8 NZwia 2—1 2—0 2—0 3—0 1
HEIER 56 = 7-8 = 5-7 = 6-8= 58> 6-7
C =4 XA —LEE (X7 FR)
NO. F—L% 9 10 11 12 B BR JE sz
9 FTI7O WEX 2—-0 2—-0 1—2 2—1 2
10 I Il 0—2 2—0 0—2 1—2 3
11 ATy b 0—2 0—2 0—2 0—3 4
12 =7 JERE 2—1 2—0 2—0 3—0 1
EXYEE3 9-10 = 11-12 = 9-11 = 10-12= 9-12= 10-11
D =45 AT — LR (27 F)
NO. F—L% 13 14 15 16 fBR JE sz
13 770 BEEREX 2—-0 2—-0 2—-0 3—-0 1
14 EG-NS -5 -1 0—2 2—-0 2—-0 2—1 2
15 NDE 0—2 0—2 2—1 1—2 3
16 IFAlEA 0—2 0—2 1—2 0—3 4
EXYEE3 13-14 = 15-16 = 13-15 = 14-16=> 13-16= 14-15
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